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0.036 (Type1) ±P= -0.075

0.042 (Type2)±P= -0.049
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PSTAR Fit to  Ratio = A

0.007 (Type1) ±P= -0.037

0.008 (Type2)±P= -0.026

<0.37
F

x0.27<

Log A
0 1 2 3 4 5

(p
p)

N
(p

A
)/

A
N

A

0
0.2
0.4
0.6
0.8

1
1.2
1.4

1.6
1.8

2
PSTAR Fit to  Ratio = A

0.009 (Type1) ±P= -0.032

0.010 (Type2)±P= -0.020

<0.47
F

x0.37<

Log A
0 1 2 3 4 5

(p
p)

N
(p

A
)/

A
N

A

0
0.2
0.4
0.6
0.8

1
1.2
1.4

1.6
1.8

2
PSTAR Fit to  Ratio = A

0.013 (Type1) ±P= -0.019

0.014 (Type2)±P= -0.001

<0.61
F

x0.47<

Log A
0 1 2 3 4 5

(p
p)

N
(p

A
)/

A
N

A

0
0.2
0.4
0.6
0.8

1
1.2
1.4

1.6
1.8

2
<0.81Fx0.61<

PSTAR Fit to  Ratio = A

0.056 (Type1) ±P= -0.075

0.047 (Type2)±P= 0.000
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